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# <a<gegeeececcs Makefile >503555300555>

instrid: main.o scre.o scrc.o scrs.o scir.o scru.o fnrd.o fsir.o fedto \

fecom.o fndx.o frep.o frph.o fthw.o

main.o :

SCre.o !

SCIc.o

SCrs.0 ¢

SCIT.O ©

5CTu.0

fnrd.o :

fstr.o :

fedt.o :

fcom.o :

fndx.o :

frep.o :

frph.o :

fthw.o :

€C Main.o SCre.o SCre.0 SCrs.o SCIT.o scru.o fstr.o \

/staff/mongkol/binflibinx -lcurses -ltermcap -o instrld -g

main.c

cC -¢ nain.c
scre.c

CC -C scre.c
SCIC.C

CC -C SCIe.C
SCrs.0

CC -C SCrs.c
SCIT.C

¢ -C SCIT.C
$Cru.c

€¢c -¢ SCru.c
fstr.c

cc -c ford.c
fstr.c

cc -¢ fstr.e
fedr.c edith
cc -¢ fedtc
fcom.c

¢c -¢ fecom.c
fndx.c

cc -¢ fndx.c
frep.c

ce -¢ frep.c
frph.c

cc -c frph.c
fthw.c

cc -¢ fthwe
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* L CLLLLLLLL SCLh BOBEEEBBIIBH>

*

* Escape sequence to set screen (use for VT220 terminal)

W

*/

#idefine ESC

#define CSI

#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define
#define

#define

entgrp( )
extgrp( )
dubln( )

saveur({ )
rescur( )
clreol( }

clrser( )

ser132( )
scr80{ )

smtscl{ )
Jmpsel( )
revscr( )
norser( )
curon( )

curoff(
norchr( )
hghchr( )
ulnehr( )
blkchr( )

revchr( )

33

033"

printf( %s(0”, ESC)
printf(" ' %s(B”, ESC)
printf(" %s#6 ", ESC)
printf( %s7 , ESC)
printf(’ %s8 ", ESC)
printf(" %sK”, CSI)
printf(" %s2J”, CSI)
printf(" %s3h”, CSI)
printf(" %s31”, CST)
printf(" %s4h’”, CSI)
printf(" %sai”, CSI)
printf(" %s5h”, CSI)
printf(" %s?51", CSI)

"
,
P
o
o
o
o
o
,
-
s
,*
o

printf("“ %s?25h”, CSI) /*

printf("“%s?251”, CSIy f*

printf(" %s0m”, CSI)
printf("‘%s1m”, CSI)
printf(" %s4m”, CSI)
printf( %s5m’, CSI)
printf(" %s7m”, CSI)

m
-
,*
,
o

enter to graphicss mode */
exit from graphics mode */
double-width line */

save cursor */

restore cursor */

clear end of line */

clear screen */

set screen to 132 column */
set screen to 80 column */
smooth scrooling screen */
jump scrolling screen */
reverse screen */

normal screen */

text cursor on */

text cursor off */

display normal character */
display high-light charecter */
display underline chafacter *f
display blinking character */

display reverse character */

serpos(x,y) printf(“%s%d;%dH”, CSL(x),(y) /* line x,column y */
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f* <cecagce<e<<< edith >50555555005>> ¥/
short postO[ ] = [ 4,4, 4},
poscO[ ] = {29,33,59},
sz0[ ] = {3, 3,2},
posrl[ ] = {9,12,12,12,15,18,18,18,18,19,19,19,19,20,20,20,20,21,21,21,21},
poscl[]) = {18,13,32,50,23, 9,41,46,69, 9,41,46,69, 9,41,46,69, 9,41,46,69},
szi[] = 160,2,2,2,4,7,4,4,6,7,4,4,6,7,4,4,6,7, 4, 4, 6],
posr2[ 1 = | 9,12,12,13,13,14,14,15,15,16,16,17,17,18,18,19,19],
posit{ 1 = {13,16,19},
posct[ ] = {32,32,32},
contl[][4] = {{0,1,0,0},{0,4,2,1},10, 4.,3,1}
40,4320 1,.5.4.41,{4,9,6, 5}
A 4,10, 7, 5),1 4,11, 8, 6}.{ 4,12, 8, 7}
1 5,13,10, 9},{ 6, 14,11, 9}{ 7.15,12,10}
1 8,16,12,11},{ 9,17,14,13},{10,18,15,13}
,{11,19,16,14},112,20,16,15},{13,17,18,17}
.{14,18,19,17},{15,19,20,18},{16,20,20,19}
cont2[ ]{4] = {{ 0, 1,.0, 1H{0,3,2,11,{ 0, 4,2, 1}
41,5 4,3012,6,4,3),13,7,6, 5}
1 4,8,6,5),{5 98, 7)1 6,10, 8, 7}
1 7,11,10, 9},{ 8,12,10, 9},{ 9,13,12,11}
.[13,15,16,i5},{14,16,16,15} },
conttf 1[4] = {{0,1.0.00,{ 0,2, 1,1}{1,2, 2, 1}}

pinbh[ ] = | 8,68,70,72},

pinbl[ ] = {11, 15434775, 2251,5581,
29,59,63,87, 36,67,71.93

pinb2[ ] = {10, 99,155, 106,158, 113,161, 120,164,

127,167, 134,170, 141,173, 148,176},
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[ << E<d MAING >3O0 353350> X/
f*

* main screen

*/

#tinclude <curses.h>

ginclude “ser.h”
#define FSETUP “setup.dat’

int term,year,col132;

char prcom[50),prmm[30);

main{ ) |
FILE *f;
char tmp[35];

int ch;

initser( );

system(“reset”);

if ((f = fopen(FSETUP, ‘r')) != NULL) {
fscanf(f, “%d”,&term);
fscanf(f, “%d”, &year);
fscanf(f, “%d", &coll32);
fgets(pmm,30.f);
strcpy(prcom, u”);
strcpy (prcom,prnmy);
streat(prcom, “rcpon.dat”);
fclose(f);

| else {
term = 2;
year = 2532;
coli32 = 0;
strepy(prnm, “]pr -h -Pdec”);

strcpy(preom, “lpr -h -Pdec rcport.dat”);
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do {
clrser( );
hghehr( );
scrpos( 5,11);dubln( ); printf(“<<<( MAIN MENU )>>>“);
norchr{ );
scrpos( 8,30); printf( 1. EDIT DATA);
serpos(10,30); printf( 2. COMPUTE TEACHING LOAD”);
scrpos(12,30); printf( 3. SEARCH’);
scrpos(14,30); printf( “4. REPORT )
scrpos(16,30); printf( “s, SETUP“);
scrpos(18,30); printf( 6. EXIT );
serpos(24,58); printf( “SELECT (6]7);
do |
ch = rddg(24,66);
) while({ch < 0)&&(ch > 6));
switch(ch) {
case 1 : edit( );
break;
case 2 : load( );
break;
case 3 : serh( );
break;
case 4 : rept{ );
break;
case 5 : setup( );
]
} while ({ch != 6)&&(h != 0))
scrpos(24, 1),
system(“stty ~cbreak”);

endwin{ );
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Nl L LLLLLCLLLCAE T (RS 5 S-

#include <stdio.h>
#include <curses.h>
#include “scrh’

#define RETURN ‘\015°

extern short posrl[ 1,poscl[ 1,posr2[ ],posrc2[ 1,posrt[ ],posct[ 1;

int savf,savhf:

edit( )
{
int ch;
do {
clrser( );
refresh( )
scrpos(5,12);
dubln{ )
hghchr( );
printf(“<<< EDIT DATA >>>“);
norchr( );
scrpos{ 9,27);
printf(" 1.Edit Subject Data’ );
serpos(12,27);
primf(“2.Edit Teacher Da[a”);
scrpos(15,27);
printf(" 3. EXIT );
serpos{22,50);
printf(‘SELECT [3]™;
do |
ch = rddg(22,58);
) while {((¢ch < 0)Il{ch > 3));
clrser( );
refresh( );
switch(ch) {
case 1 : data_edit( );
break;

case 2 : tech_edit( );



73

}
scrpos(1,1);
} while ({ch '= 3)&& (ch !'= O));
]
data_edit( )
{
FILE *fp[2],*fph(2];
char chkeyh[8],sect[3].key[10],buf[199],bufh[93];
int scr;

long In,Inh;

fopeninx(“load”, “r+”,fp);
fopcninx(“hload”. “re” fph);
page0( );
pagel{ );
ch = editpO(keyh,sect);
while (ch == ‘Y {
putchar(‘ \007‘);
scr = I
savf = savhf =
strepy(key, “”);
strepy(key keyh);
strcat(key,sect);
In = freadinx(buf key.fp);
inh = freadinx(bufh keyh.fph);
if (In == QL) {
scrpos(24,48);
printf(“NEW RECORD. Exit (Y/N) 7 [Y]");
ch = rdym{24,75);
} else
If (buf[178] == D) |
scrpos(24,44);
printf(‘DELETED RECORD. Exit (YN} 7 (Y1)
ch = rdym(24,75);
| else {

(S}

¢h = N;
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}
if (ch == ‘N') |
if (In == QL)
sprintf (buf, “%9s%180s”, key, )
if (Inh == OL)
sprintf (bufh, “%7s%76s", keyh, " );
showp11(bufh);
showp12(buf),
ch = gettnx( )
while (ch !=‘x) {
if (ch == T} {
if (scr == 1) |
editp1(buf, buth),
] else {
editp2({buf),
|
) else | M ch == ‘N ¥
clrdw( );
if (csr == 1) |
page2( ),
showp2(buf);
scr=2;
} else {
pagel( );
showpl 1(bufh);
showp12(buf);

chr=1;

ch = gettnx();
}

if (savf)
if (ln == OL)
fwriteinx(buf, fp, “s”);
else

frewriteinx(buf, In, fp);
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if (savhf)
if (Inh == QL)
fwriteinx(bufh, fph, “7);
else
frewriteinx(bufh, Inh, fph);
)
clrser( );

refresh( );
page0( )
pagel( )
ch = editpO(keyh,sect);
}
clrser( ),
refresh( };
feloseinx(fph);
!
tech_edit( )
{
FILE *ft[2);
char buft[106), 1code[8], sterr[30];
logn In;

int ch;

fopeninx(“lect”, “r+", fiy;

paget( );

strepy(tcode, rdchr(7,9,22));

while (stremp(tcode, “"9
putchar(\007');

if (!snum{7.tcode)) {

sprintf(sterr, “. .. CODE [%7s] error. .

status(sterr);

ch = Y}
! else {

savf = 0;

In = freadinx(buft, tcode, ft);
if (In == OL) |
scrpos(24,48);

J , tcode);
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printf('NEW RECORD. EXIT (Y/N) 7 [Y]™):
¢h = rdymn(24,75);

scrpos(24,48);

clreol( );

| else |

}
if (ch == ‘N) {
if (In == OL)

“n

sprintf(buft, “%7s%88s\n”, tcode, *Y;

showpt(buft);

editpt(buft);
) -
if (savf) |

if (In == OL)

fwriteinx(buft,ft, “s");
else
frewriteinx(buft,In,ft);
J
clrser( ),
refresh( );
paget( );
strepy(tcode,rdchr(7,9,22));
]

feloseinx(ft);

page0( )

{
int i;
scrpos( 1,16Y; dubln( ); printf(" SUBJECT DATA”);
scrpos( 4,15); printf( Subject-Code { - 1"
scrpos( 4,50); printf(“Section [ ]”);
scrpos( 6, 3);
for i=0;1<77 i++)

printf("-");
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]
pagel()
{
int 1
scrpos( 9, 4); printf(" Subject Name [%60s] ©." )
scrpos(12, 4); printf(“Credit [1] :”);
scrpos(12,23); primf(“Lccturc f ]”);
scrpos(13, 4); printf(“Number of Student [ ]”);
scrpos(18, 4); primf(“Day”);
scrpos(18,35): printf( Time )
scrpos(18,63); printf(“Room”);
for (=01 < 4ji++) |
scrpos(18+i, 8); printf(’ [ )
scrpos{18+1,40); printf(“[ ]”);
scrpos(18+i,68); printf(‘[ 1'%
)
]
page2( )
{
int i
scrpos( 9, 4); primf(“Subject Type | ]”);
scrpos(12, 4); printf(“Teacher Code;’);
for (i=0ii < Bi++) |
serpos(12+i,23); printf( %1d. [ 11 1%% .+l
]
}
paget({ )
{
int

scrpos( 3,15);

dudbln( );

printf(. TEACHER DATA”);

scrpos{ 9, 7); primf(“Teacher Code | )
serpos(11, 3);

for (i=0;1 < 77i++);
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printf(“-”);

scrpos(13, 7); printf( Department Code [ Y
scrpos(16, 7); printf( Teacher Name in Thai  [%40s]”, “”);
serpos(19, 7); printf(” in English [%35s], *7);
]
clrdw( }
{
int 1;
for (i = O;i <17ii++) |
scrpos{ 7+1,3);
clreol( )
l
]
showpl 1(hbuf)

char hbufl ];

{
int i
wrstr(posr1{0], posc1[0], strcut(hbuf, 8,67)); /* Subject Name */
for G = 0;1 < 35i+4) f* Credit  */

wrstr(posrli+1], poscl[i+1], strcuthbuf,68+(i*2), 69+(I*2)));

)

showp12({buf)

char buff ];

{

int i,next;

wrstr{posrl[4],poscl[4],streut(buf,11,14)); /* No. of Stud. */
for (i = O < 45i++) |
next = i * 4,
wrstr(posr1[5+next], posc1[5+next]
streut(buf, 15+(1*7),21(*7)));  /* Day */
wrstr(posr1[6+next], posc[&+next]
Sstreut(buf 43+(i*8) 46+(1*8))); /* Time In */
wrstr{posr1[7+next], posc1[7+next]
Sstreut(buf 47+(1%8),50+(1*%8)));  /* Time Qut */

wrstr(posr1[8+next], posc1[8+next]
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,streut(buf, 75+(i*6),80+(i*6)));  /* Room */

f
showp2(buf)
char buf] ];
{
int i
wrstr(posr2[0], posc2[0], strcut(buf,10,10); /¥ Subject Type */
for (i = O <8i++) |
wrstr(posr2{ 1+{1*2}),posc2{ 1+(i*2)]
streut(buf, 99+(1*7),105+(1*7)));  /* Teacher Code */
wrstr(posr2[2+(1%2)),posc2[2+(i*2)]
streut(buf, 155+(1%3),157+(i*3)));  /* Percent */
}

showpt(buf}

char bufl 1;

{
wrstr(posrt[0],posct{0],strcut{buf, 8,11));
wrstr(posrt[1],posct{1],strcut{buf,12,51});

wrstr(posrt[2],posct]2],streut(buf,52,86));

gettnx( )
{
int ch:
scrpos(24,40);
hghehr(, Y:printf("T);
norchr{ ):printf(“his screen,”);
hghchr( J;printf(*N" )
norchr( );printf(“ext screen,ne”);
hghchr{ ) printf(“X”);
norchr( );printf(“t code [X]”);
do {
scrpos(24,75);
ch = toupper(getch( ));
] while ((ch != ;T’) && (ch '= ‘N) && (ch != ‘X)



&& (ch != RETURN) && (ch !=°

if {ch == RETURN)
ch = ‘X’;
if (ch ==" ")
ch="N;
scrpos(24,40);
clreol( );

return(ch);

20

)
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¥ €L LCCCLC SCIC.C PRI OOIRIIIID> ¥

#include <curses.h>

. 11 L]
#include scrh

load( )
{

int choc;

clrser( );
serpos( 7,10);
dubln( };
printf(‘COMPUTE TEACHING LOAD");
norchr( );
scrpos(14,20);
printf(" Start to Compute Teaching Load {Y/N] ? [Y1);
choc = rdym{14,60);
clrser( );
if ( choc == ‘Y ) {
scrpos(12, 6);
dubln( );
printf("“<<< Compute Teaching Load >>>");
scrpos(15,31);

"

printf(“. .. Please wait ... );

refresh( );
comdb( );
serpos(15,31);
slreol( );
clreol( );
putchar(‘\OO’i’);
scrpos(24.,35);
printf(“IR.EADY! Press any key ... )

getch( );
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[* <LK CCLKCCLLL SCIS.C POBIIIODIIOI> ¥

#include <stdio.h>

#include <curses.h>

#include

#define FREPT

(13 M
scr.h

“report.dal”

extern int col123;

char dinf] ][5]

int rdyf,
numndf(] ]

posdf[ ]

scth{ )

{“1240”

»

“2000”,

”

#2500”,

»

“3000",

) “35005

”

“4000”,

"

“4500",

“5500",

ki)

“6000",

“6500,

L3

“7000”,

(13 7

9500

“9600“ ,

“2100", “2150”",
“2600", “2650”,
“3200", “3220”,

, 33407, “3360”, "

“3600", “3620”,
, 37407, 37607, "
“4100”, “:4160",
“4600", “4650",

, 51007, “5150”,
“5600”, “5650”,
“6130", “6160",
“6370”

“6600", “66507,
“7010”, “71007,
“9650");

13 »

2200 ,

[} k1]

2700 ,

LY

3240 ,
3380,

il "

3640
3780,

L BT

‘4200”,

»

4700

“

1) b1l

5200,

13 »

5700 .,

113 kil

6190 ,

13 13

6700 ,

”

‘7200,

”

LA 1Y

[}

22507, “2300",
“2800", “2900”
3260”, “32807,
3400"

“3660", “3680",

3800, “3820", “

4240”7, “4330”
“5250”, “5300",
“5750", “5800"
“6220", “6250",
“6750", “6800",
“7310”

{ 1,8,6,12,14,6,4,8,6,9,.7,5,1,2 },

int choc;

do |

clrser( );

refresh( );

scrpos(5,13);

dubln( );

hghchr( );

printf(“<<< SEARCH »>>> )

1 0,1,91527.41,47.51,59,65,74,81,86,87

"

B

LT3

"

*2350”,

L 1Y

3300,

13

3700”,
3960"

5350,

LLI 13

‘6290”7,

" 7

6850

L 11

[}

3320”

LLE Y

3720

2400’

2]

kil

5410”

6330"
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norchr( );
scrpos{ 9,18),
printf(“l. Subjects Taught by Each Lecturer );
scrpos(11,18);
prinlf(“2. Teaching Load (Based on Standard Formula )’,);
scrpos(13,18),
printf(“3. Teaching Load (Based on New Formula )”);
scrpos(15,18);
printf(“4. Department Code”);
scrpos(17,18);
printf(' 5. EXIT );
scrpos(22,58);
printf("SELECT [5]");
do |{
choc = rddg(22,66);
} while ({(choc < 0) 1l (choc > 35));
clrser( );
refresh( );
switch(choc) {
case 1 : srhsb{);
break;
case 2 :
case 3 : mksrhichoc - 1};
break;
case 4 : swedp( )
}
} whiié ({choc !'= 5} && (choc != O));
]
sthsb( )
{
int i
rdyf = 0,
clrser( );
scrpos(1,1);
refresh( );

sleep(1);
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scrpos(7,13);
dubln( );
hghchr( ),
printf( <<< SEARCH >>>" );
norchr( );
wrmid(10, “<<< Subjects Taught by Each Lecturer >>> );
subj_t( )
scrpos(15,30);
clreoi( );
putchar(‘\OO?‘);
if (rdyf) |
clrser( );
refresh( );
scrl123( ),
prser( );
ser80( ),
refresh( );
sleep(1);
] else |

status(' NO DATA FOR THIS CODE");

mksrh(type)
int type;
{

int rang,nmfac;

clrser( );
hghehr( );
scrpos(4,13);
dubln( ),
printf(’ <<< SEARCH >»>")
if (type == 1)
wirmid(7, “Teaching Load (Based on Standard Formula ) );
else
wrmid(7, “Tcaching Load (Based on New Formula Yy,
norchr( );
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rang = repch( );
while (rang !'= 5) |{
if (rang == 3) {
clrscr( );

refresh( );

I

nmfac facnum( );
} else |
nmfac = I; [* set for if statment */
]
if (nmfac = ) |
nmfac--;
rdyf = 0,
clrser( );
scrpos(7,13);
dubln( );
hghehr( );
printf(“<<< SEARCH »>>>")%
norchr( );
if (ype == 1) {
scrpos(10,18);
primf(“<<< Teaching Load”);

printf(“( Based on Standard Formula ) >>>");

] else |

scrpos(10,21);

printf(" <<< Teaching Load”);

printf(“( Based on New Formula) >>> );
}
switch(rang) |{

case 1 : mkrep_t(type});
break;

case 2 : mkrep_d(type);
break;

case 3 : mkrep_f{type,nmfac);
break;

case 4 : mkrep_u(type);

break;



prser( )
{
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scrpos(15,30);

clreol( );

putchar(‘\OOT,);

it (rdyf)
clrser( );
refresh( );
scrl23( ),
prser( );
scr80( );
refresh( );

} else |

status('NO DATA FOR THIS CODE);

I -
clrser( );
hghchr( );
scrpos(4,13);
dubln( );
printf("<<< SEARCH >>>"
if (type == 1)

wrmid(7, “'I‘eaching Load (Based on Standard Formula ) );
else

wrmid(7, “Teaching Load (Based on New Formula )”);
norchr( };

rang = repch( );

FILE *fr;

unsigned char buf[300};

int 1 = 0

i=0

fr = fopen(FREPT, ‘r );

while (fgets(buf, 300, fr} != NULL) {

if i+ < %)
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If (col132)
printf(" %33s”, ° ),
else
printf(“%285”, “”);
printf(“%s”, thvax(buf));
]

felose(fr);
printf(“%104sPress any to conftinue,. . . M
getch( );

J

swedp( )
{
FILE *f]2];
int nmfac,ch.i};
char bufd[90], *thstr[4];

[T3R1]

fopeninx(“dept“, t f)
thstr[0] = (char *) malloc(200);
thstr[1] = (char *} malloc{200),
thstr[2] = (char *)} malloc(200);
thstr[3] = (char *) malloc{200);
do |
elrser( );
refresh( );
c¢h = facnum( };
if (ch = 0y |{
clrser{ );
wrmid(1, “<<< DEPARTMENT CODE >>>");
scrpos(3,1);
refresh( );
nmfac = ch- I;
for (i = 0;i < numdfinmfac]; i++) |
if ((!=0) && ({i%5) == 0) |
scrpos(24,1);
revchr( );
printf("--MORE--");

getch( );
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norchr( );
clrser( );
wrmid(], “<<< DEPARTMENT NAME >>>);
scrpos(3,1);
refresh( };
}
freadinx(bufd dinf[posdf[nmfac] + i],f);
thaich(stret(bufd,10,61),thstr);
for G = 0 < 4;j++) |

if § == 2)
printf(" %ds -
dinf[posdf[nmfac]+i]);
else
printf(" "

printf("“%s ", thvax(thstr[j]));

if 1= 3
printf(“\n”);
]
}
scrpos(24,46);
prinrf(“Press any key to continue . . . “Y
getch( )
!
] while (ch !'= 0)
free(thstr[0]);
free(thse[1]);
free(thstr[2]);
free(thstrf3]);

fcloseinx(f);
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[¥ <<<<CLCC<LCCL SCIT.C DEDDIODELLOBD ¥
#include <stdio.h>
#include <curses.h>

ginclude “serh’

extern char prcom[ 1;

int rdyf;
rept( )
{
int choc;
do |
clrser( );
scrpos(5,13};
dubln( );
hghehr( );

printf("<<< REPORT >>> )
norche( );
serpos(9,18);
printf(“ 1. Subjects Taught by Each Lecturer ),
scrpos(12,18);
printf("2. Teaching Load (Based on Standard Formula ¥
scrpos(15,18);
printf(" 3. Teaching Load (Based on New Formula )");
scrpos(18,18);
printf("“‘4. EXIT");
scrpos(22,30);
printf("SELECT (4} );
do |

choc = rddg(22,58);
} while ({(choc < 0} Il (choc > 4))
clrser( );
switch(choc) |

case 1 : repsb( );

break;
case 2 :

case 3 : mkrep(choc - 1)
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} while ({choc '= 4) && (choc = ()

repsb( )
{

int 1

rdyf = 0

clrser( );

scrpos(1,1);

refresh( );

sleep(1);

scrpos(7,13);

dubln( );

hghchr( )

printf(“<<< REPORT >>>”);

norchr( );

wrmid(10, “<<< Subjects Taught by Each Lecturer >>>" )

subj_t( %

scrpos(15,30);

clreol( );

putchar(‘\()()'l’);

if (rdyf) {
system(prcomy},
scrpos{23,55);
primf(“!READY! Press any key .. .”);
getch( );

| else |

status('NO DATA FOR THIS CODE);

}
mkrep(type)
mnt type;

{

int rang,nmfac:

clrser( ),
hghchr( );

scrpos(4,13);
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printf( <<< REPORT >>> );

if (type == 1)

wrmid(7, “Teaching Load (Based on Standard Formula ) );

else

wrmid(7, “Tcaching Load (Based on New Formula )");

norchr( );

rang = repch{ );

while (rang != 5) |

if (rang

| else {

t

== 3) |
clrser( );

refresh();

nmfac = facnum{ );
nmfac = 1;

if (nmfac != 0) [

nmfac--;
rdyf =0,
clrser( );
scrpos(7,13);
dubln( ¥
hghehr( );
printf('<<< REPORT 55> );
norchr( );
if (type == 1) {

scrpos(10,18);

printf(“<<< Teaching Load ™

printf(“( Based on Standard Formula ) >>>");
] else {

scrpos{10,21);

printf(“<<< Teaching Load ”);

printf(“( Based on New Formula ) >>>”);
]
switch(rang) |

case 1 : mkrep_t{type);

break;



92

case 2 : mkrep_d(type),
break;
case 3 : mkrep_f(typenmfac);
break;
case 4 : mkrep_u{type);
break;
!
scrpos(15,30);
clreol( ),
putchar(‘\OO'l’);
if (rdyf) |
system{prcom},
serpos(23,53);
printf(" 'READY! Press any key ... );
getch( );
} oelse {

status("NO DATA FOR THIS CODE);

J

clrser( );
hghchr( );
scrpos(4,13);
dubln( );
printf(“<<< REPORT >>>”);
if (type == 1)
wrmid(7, “Teaching Load (Based on Standard Formula )”):
else
wrmnid(7, Teaching Load (Based on New Formula )”);
norchr( };

rang = repeh( )
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[¥ << CCLCLCCL SCIUS POODBIBIORHLD K/

#include <stdio.h>

#include <curses.h>

. n "
#include scr.h

#define FSETUP “setup.dat’

extern int termyear,col132;

extern char prcom([ ].prnm[ ;

setup( )
|

FILE *f;

char tmp[35]);

int ch;

cleser( );

scrpos( 5,13%dublin( );hghchr( );

printf(‘<<< SETUP >>>);

norchr( );

serpos( 8,15); printf(' 1. TERM (1,2 or 3)

serpos(10,15); primf("2. YEAR

scrpos(12,15); printf( 3. PRINTER COMMAND

scrpos(14,15); printf('4. PAPER COLUMN (1=80,2=132)

scrpos(16,15); printf( 5. SAVE SETUP DATA (Y/N) ?

scrpos(18,15); printf('6. EXIT )%

do {

scrpos(22,58); printf(“SeIect 61"
refresh( )
do {

ch = rddg(22,66),
} while (ch > 6)
serpos(22,51);clreol( );
switch{ch) {

case 1 : do |

ch = rddg(8,46);

(%1d", term);
[%4d]", year);
[%-25.255]", pmm);
[%1d)”. coll32+1);

Y]y

} while ((ch '= 0) && ((ch < 1) li(ch > 3))

if {ch '= Q)
term = ch;

scrpos(8.46);
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printf(’ %1d", term);
break;
case 2 : strcpy(tmp,rdchr(4,10,46));
if (atoi(tmp) > 1900)
year = atoi(tmp);
scrpos(10,46);
printf(“%4d”. year);
break;
case 3 : strepy(imp,rdchr(25,12,46));
if (stremp(tmp, “”)) {
strepy(pmm,tmp);
strepy (precom,prnmy);
streat(preo, “report.dat“);
}
scrpos(12,46);
printf(“%ZSs“, prnm};
break;
case 4 : do |
ch = rddg(14,46);
} while (ch > 2);
if (ch != 0);
coll32 = ch-1;
scrpos(14,46);
printf("%1d”, col132 + 1);
break;
case 5 : ch = rdym(16,46);
if (ch == 'Y |
f = fopen(FSETUP, “w;
fprintf(f, “%d\n’, term);
fprintf(f, “%d\n”, year);
fprintf(f, “%-305\11”, prnmy);
fprintf(f, “%d\n”, coll132);
felose(f):

}
} while ((ch != 0) && (ch != &)
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J* cegcaegece<<s fird.c >>o523502055> ¥

f'*

* this module use to read value
*

#include <ctype.h>

#include <curses.h>

#include “scrh’

#define todigitich) ( (ch)- '0")
#define RETURN ‘015

#define BCKSPC ‘\177°

int fnf; /* external variable */

rdupp( )
{

return{toupper{getch( )));

rddg(In,cl)
int In.cl;
{
int ch;
do |
scrpos(In.cl);
ch = getch( ),

} while ({(ch != RETURN) && (! isdigit(ch)));

refresh{ );

return{ (ch == RETURN) ? 0 :

rdalp( )
{

mt ch;

ch

getch( );

switch{ch) {

case = \033’
if {(ch

: ch = getch( )

todigit(ch) )

/*

== ‘(') {/* function key */

beginning with ESC */

ch getch( );

switch (ch} {
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case A : fnf = 0; break;
case B : fnf = 1; break;
case 'C : fnf = 2; break;
case 'D : fof = 3; break;
}
¢h = RETURN;
}
break;
case 004" : fof = 4; /* CTRL_D */
ch = RETURN;
break;
case \025 : fof = 5 /* CTRL_U */
¢ch = RETURN;
break;
case  \030 : fof = & /* CTRL_X */
ch = RETURN;
break;

if ((ch < 32) && (ch '= RETURN) && (fnf < 4)) |
if (ch == "\001")
putchar(‘ \016');
hghehr( );
putchar(ch + ‘Al 1),
norchr{ );
if (ch == "\001)
putchar(‘ OO ,);
]
return(ch},
I
char *rdchr(sz,In.cl)
int szIncl;
{
©int igghf = O

char *str;

fnf = -1;

str = (char *) malloc(200);
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i=0
scrpos{In,cl);
str[0] = rdalp();
if (str[0] == \001)
thf = 1;
if (sr[0] !'= RETURN) {
if (sz = 1) |
if (str[0] == BCKSPC) {
printf(“%*s”,sz, “ “);
=0
} esle |
primf(“%*s”,sz-l. “ ");
j=n
}
while (j++ < sz)
printf(“\b”):
}
while((str[i] !'= RETURN)&&(i < sz-1)) |
if {(i > Ol (ser[i] != BCKSPC))
i++;
strli] = rdalp( );
if (st[i] = \001) {

thf = 1
} else {
if (stefi] == ' \016)
thf = 0O

}
if ((str[i] == BCKSPC)&&(i >0)) {
prinrf(“\b b
suli] = 000
i -=2;
} else {
if (str[i] == BCKSPC)
printf(“\b”);
J
if (1=0) {
if (sr[i] !'= RETURN)
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i++;
for (j=ij<sz;j++)
ste(y) = “
if (thf)
strfsz-1] = \016’;
strsz] = ‘\000,;
} esle |
if (thf)
su[0] =
if (str[i] != RETURN)
stri++i] = \000';

}
if (thf)

putchar(‘ \016,);
return({i==0)? . str);

I

char rdym(In.cl}

int In.cl;
{
int ch;
do |
scrpos(In,cl);
ch = getch();

| while ((ch != ‘n)&&(ch != ‘y)&&(ch !'= ‘N)&&(ch = 'Y)
&&(ch !'= RETURN))
if (¢ch == RETURN) ch= 'Y

return(islower(ch)? toupper(ch):ch);

status(str}

char str[ ];

{
hghehr( ),
bikchr( );
wrmid(22,str);

scrpos(23,33);



norchr( );

printf(“Press any key”)‘,
getch( );

scrpos(22,1); clreol( );
serpos(23,1);, clreol{ );

99
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f* <ececece<<e fStr.c >>55500550> ¥/

/*

* this module use to cut string from begin-col to end-col
*

#include <ctype.h>

#include “scrh”

#define CTRL_A 1
#define CTRL_N 14

char *strcut(buf.bge.edc)
char buf] 1.

int bgc.edc;

|
int 1,sz;
char tmps[512);
sz = edc-bge+ I;
for (i=01 < szi++)

tmps[i] = buf{bge+i-1];

tmps[sz] = \000";
return (tmps);

l

wrstr(In,cl.str)

int In.cl;

char str{ J;

{

int 1,5z;

scrpos(in.cl);
sz = strlen(str);
for (i=0: < szi++) |
if (suli] == ' \016)
putchar(str{i]);
if (strfi] < 32) |
hghchr{ );
putchar(str{i] + ‘A’ - 1%
norchr( )%
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if (str[i) '= ©\016)

putchar(st{i));

}
isnum{num,str}
int num;
char str[ J;
{
int i,flag = 1;
for (i = O:i < num) && (flaghi++) |
if (! isdigit(str{i])) {
flag = O,

]

return(flag);

wrmnid(In,str)

int In;

char str] ];

{
int cl;
cl = (80 - strlen(str)) / 2:
scrpos(In,cl);

primf(“%s”, stry;

/*
* This module use to change thai code from 8 bit to 7 bit
*/
unsigned char *thvax(str}
unsigned char st J;
{
unsigned char rstr{300];
int i,j,thf;
i=j=1thf =0
while (stefi] 1= \000') |
if (str[i] > 128) |
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if (thf) {
thf = 1;
rstrj++] = CTRL_A;
J
if (swli] '= ' \)

rstr(j++] = str[i] - 128;

else
str{j++] = sulil;
}oelse |
if (thf) |{
- thf = O
rstr{j++] = CTRL_N

}

rstr(j++] = str(i];

1++;
]
rste[j] = N0 ;

return{rsiry;
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mkrep_{(tyep,num)
int type,num;
{
FILE *fc[2].*fd[2],*fr;
int headf = Ounf = 1;
char buf{ BUFCM],codef]5],strtmp[50],coded[5],0coded[5];
float tval[10],dval[10),fval[10];

scrpos(12,14);
sprintf(strtmp, “FACULTY : %s”,fname[numl);
wrmid(12 strtmp);
if (fopenndx(“compulz”, “r”.fc) 1= NULL) {
fopeninx(“dept”. " fd);
wrimid(15, . . . Please wait ... )
refresh( );
fr = fopen{FREPT, “wy
strepy(codef.fackey[num]);
fstndx(fc,atoi{codef),1});
strepy(ocoded, “y:
while ((inf) && (fgets(buf,BUFCM,fc[0]) != NULL)) {
strepy(coded,strcut(buf,1,4));
if (num == facul{atoi(coded))) {
if (‘headf) {
headrep(fr.type);
headf = 1;
facrep(fr fd,codef);
setary(fval);
setary(dval);
]
if (stremp(ocoded,coded)) |
if (stremp(ocoded, “”))
depsum(fr,fd,1 ocoded,dval);
strepy(ocoded,coded);
setary(dval);
!
bodyval(buf,type,tval);
addary(dval.tval};
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)
if ((flag == ‘Y,) && ((scf !'= DI (sef !'= 1)) {
strepy(tsec,rdchr(sz0[2],pesr0[2],poscO[2]));
if (((stremp(tsee, ) |1 (sef == 0)) && (fof '= 3)) {
if (atoi{tsec) == 0) {
strepy(tsec, “01“);
} else {
tmp = atoi(tsec);
if (! isnum(2.tsec)) |
tsec[0] = (tmp/10) + 0
tsec[1] = (mp%10) + O

% b

tsec[2] NOOO ;

]
sef = 1,
strcpy(sec,tsec);
]
wrstr(posrO[2],posc0[2].5ec),
} .
} while ((flag !'= 'N') && ((faf == 3) Il (s¢f == 0))
&& ((scf '= 1)l (sef = 11k
return(flag);

!

editp1(buf bufh)
char buf] ],bufh[ J;
{

short i,bgc,enc.c;

for (i = 01 < 215i++)
strepy(chgbuf1[i], “ ")
hghchr( )
wrmid(24, “[ AU - Update, AD - Delete, X - Exit ] );
norchr( );
i=0;
do |
strepy{chgbuf1[i).rdchr(sz1[i],posr1pil.posc1[i]));
if ((fnf >= 0) && (fnf <= 3))
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i = contl[i][fnf];
else
i= (i >= 20) ? 20 : i+1);
} while ((fnf < 4) I (fnf > 6));
if (fnf == 4) |
savf = 1;

buf(178) = ‘D’

| else {
if (fnf == 35} {
if (buf[178] == ‘D) {
savf = 1;
buf(178) = *
]
for (i = 0;i < 2%L;i++) |
if (stemp(chgbuf1[il, = » |
if (< 4) |
savhg = 1;
bgc = pinbhli] - 1:
enc = pinbh[i} + sz1[i] - 2;
for (¢ =bgee <= encic++)
bufh[c] = chgbufl[i][e-bge]:
] else |
savf = 1;
bge = pinbl[i-4] - 1;
enc = pinbl[i-4] + sz1[i] - 2;
for {c = bgcic <= encic+t)
buffc) = chgbuflfi}{c-bge);
}
}
!
scrpos(24,19);
clreol( );

)
editp2(buf)
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char buil J;
{
chort 1i,bgc,enc.c;

char tmp[61];

for (i = 0ii < 17:i++)
strepy(chgbuf2(i], © ")
ghgehr( };
wrmid(24, [ AU - Update , D - Delete , X - eXit 1);
norchr( ),
i=0
do |
strepy{chgbuf2[i],rdchr(sz2[i] posr2[i].posc2[i]));
if (i'=0)&& (i % 2) == 0)&&
(stremp(chgbuf2[i], * " )&&(atoi(chgbuf2[i]) '= 0)) ¢
sprintf(tmp, ' %034 .atoi(chgbuf2[i]));
strepy(chgbuf2{i],tmp);
wrstr{posr2{i],posc2[i],tmp);
)
if (fnf >= 0) && (fof <= 3))

1 conft2[i][fnf];

else

= (G >= 16) 7 16 : i+l)
} while ((fnf < 4) |1 (fof > &)X
if (fnf == 4) [
savf = 1
bufl178] = ‘D’
} oelse |

if (fnf == 5) |
f (buf[178] == ‘D) |

savf = 1;
buf[178] = * ;

|

for (i =0:1 < 17i++) |
if (stremp(chgbuf2[i], “ ")) {

savf = 1;

bgc = pinb2[i] - 1;
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enc = pinb2[i] + sz2fi] - 2:
for (¢ = bgeie <= encie++)

buffc] = chgbuf2(i][c-bgc];
if (i==40)

buflbge] = toupper(buflbge]);

1
scrpos(24,19);
clreol( );

J

editpt(buf)
char buff J: -
{

chort ibge.enc.c:

for (i = Oii < 17%i++)
strepy((chgbuftil. * ")
hghehr( X
wrmid(24, “[ AU - Update, X - eXit ]");
norchr( );
=0
do {
strepy(chgbuft[i].rdchr(szi[i).posrt[i].posct[i]));
if ((fnf >= 0) && (fnf <= 3))
i = contt[i][fnf];
else
i=(1 > 2)7 2 I+iy
} while ((fnf < 4) || (fof > 6));
if (fof == 5} |
for (0 = 1 < 3+4) |
if (stremp(chgbuftfi}, “ ")) |
savf = 1;

bge = pinbt[i] - 1;

13

enc pinbtfi] + sztfi] - 2;

for (c = bgcic <= encic++)
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buffc] = chgbuft[i]{c=bgc];
if (1 == 0)
buf[bgc] = toupper(buffbgel);

]
scrpos(24,19);

clreol( );



/¥ <c<cecace<<<s feom.e >>e05330500>> ¥/

#include <stdio.h>

13 ke

fidefine BLK7

13 »

f#idefine BLKI10 \n

#define RECSZ 42  /* record size of file "compu */

#define RPTSZ 69  /* record size of file “compu2”

#define  MAXBF 3000

#define  LGSTD 70

#define SDSTD 35

#define MXCRD 2.0

comdb( }

{

FILE *fi*fo,*{l{2];

int i£flginrec;

char buf[199),bufc[52]).tech[8].hour[5];
char buf1[i06];

char *sbuf; /* Sort buffer */

“ N

fi = fopcn(“load". r;

(NI

fopeninx( " lect , ' fl):
fo = fopen(“compu” ey
nrec = 0O;
sbuf = {(char *) calloc(MAXBF RECSZ);
strepy(sbuf, "
while(fgets(buf,199.fi) '= NULL) {
if (buf[178] != ‘D) {

flegi = 1,

*/

for (I = O <B)&&(flgi)ii++) |

strepy(tech, streut(buf,99+(1*7), 105+G* 7))

if (swemp(tech,BLK7)} |

if (I == 0)

sprintf(hour, “gp04d”

strepy(bufc, “

;comtm(strcut{buf,15,74)));

tL]
), /* clear new record */

if (freadinx(bufl,tech,fl) != OL)

strepy(bufc,streut(buf1,8,11));
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else
strepy(bufc, “0000”):
strcat(bufc,tech);
strcat{bufc,streut(buf,1,14));
strcat{bufc
Sstreut(buf,155+(1%3),157+(1*3)))
strcat(bufc,hour);

strcat(bufc,BLK10);

streat(sbuf,bufc);
nrec++;
boelse |
flgi = O
}
) -
]
]
gsort(sbuf,nrec, RECSZ, stremp);
fputs(sbuf,fo);
fcloseinx(fl);
fclose(fi);
fclose(fo);
mkndx(" compu” ,RECSZ.7.4);
mkfrpt(sbuf.nrec).
mkndx("compu2” RPTSZ,4,0);
}
mkfrpt(buf,num) /* make main report file */
char *buf;
int num;

{
FILE *fr,*fph[2);
char stype,tcod[12],0tcod[12],ssub{8],0ssub{8];
char stnm[5],perc{4],hour[5],bufh[93]:
int i,j,derf;
float lecu,labu,lecg labg,ward semi,prju,prjg.thss,crdn,crds;
float nums,pert,hurt;

float cbth,clec hlab,tmp,bons;
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fr = fopcn(“compuz” . “w");
fopeninx(“hload“ , “r”,fph);
lecu = labu = lecg = labg = ward = semi = 0.0;
prju = prjg = thss = erdn = crds = Q.0;
strepy(oteod, “”);
for (i = 0 <numji++) |
for (j = 0;j < 1Lj++) /* office code + teacher code */
tcod[j] = *(buf + (i * RECSZ) + j);
tcod[11] = “000';
for § = 0;j < Tij++)  /* subject + section */
ssub{j] = *(buf + (i * RECSZ) + 11 + j)

1

ssub[7] = 000

stype = *(buf + (i * RECSZ) + 20);

for j = 0;j < 4j++)  /* number of student */ =
stam[j] = *(buf + (i * RECSZ) + 21 + i)

for (j = 0;j < 3;j++)  /* teaching percent */
perc[j] = *(buf + ( * RECS8Z) + 25 + j),

for (j = 0jj < 4j++) ™ teaching hour */
hour[j] = *(buf + (i * REXSZ) + 28 + j);

(float) atoi(stnm);

nums
pert = (float) atoi{perc) / 100.0;
hurt = (fleat) atoithour) / 100.0;
if (stremp(tcod,otcod)) | /* if tcod is changed */
if (strcmp(otcod, “”)) {
fprintf(fr, “%11s%05d%05d%05d%05d%05d%05d”,
otcod,
(int)(lecu* 1000),(int)(tabu* 1000);
(int)(lecg* 1000),(int)(labg* 1 0000);
{int)(ward*1000),(int)(semi* 1000);
fprintf(fr, * %02d%02d%02d%
(int)prju,{int)prjg,(int)thss);
fprintf(fr, - %06d%06d
(int){crdn*1000),(int){crds* 1000));
)
strepy(otcod,teod);

strcpy(ossub, “”);



lecu + labu
prju = prjg
}

if (stremp(ssub,ossub)) {

strepy(ossub,ssub);

derf = 0

freadinx(bufh,ssub,fph);
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cbth = (float) atoi(strcut{bufh,68,69));

clec = (float) atoi(streut(bufh,70,71));

hlab = ((hurt '= ) ? (hurt-clec);

] else |

defr

I}
-

)

(float) atoi(strcut(bufh,72,73));

if (nums >= LGSTD) |

bons = (nums - LGSTD) / SDSTD * 0.5;

if (bons > MXCRD;

| else |

bons = 0.0;
]
switch (stype) |

13 b}
case U

11 b}
case G

3 T
case W

v lecu +=

labu +=
crdn +=

crds +=

break;

: clec =

lecg +=
labg +=
crdn +=

crds +=

break;

: ward +=

crdn +=

clec * pert,

(hlab / 2.0) * pert;

(clec + (hlab /2.0)) * pery;

{(clec + bons) + (hlab / 2.0)) * pert
* ((derf) ? (5.0/6.0) : 1.0y

clec * 1.5

clec * pert;

(hlab / 2.0) * pert;

(clec + (hlab /2.0)) * pert;

((clec + bons) + (hlab / 2.0)) * pen
* ((derf) ? (5.0/6.0) : 1.0y

(hurt / 3.0) * pert;
(hurt / 3.0) * pert;
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crds += (hurt / 3.0) * pert;
break;
case 'S’ : semi += cbth * pert;
crdn += cbth * pert;
crds += cbth * pert;
break;
case ‘P . pert = pert * 100.0;
prju += pert
crdn += ¢bth + ((pert - 1.0) / 2.0);
crds += pert * 2;
break:
case T : pert = pert * 100.0;
thss += pert;
if (cbth < 11) {
switch ((int)pert) {
case 0 : tmp = 0.0;
break;
case 1 : tmp = 40;
break;
case 2 : tmp = 55;
break;
default : tmp = 6.0;
!
| else |
if (cbth > 15) {
switch ({int)pert) {
case 0 : tmp = 0.0;
break;
case 1 : tmp = 2.5;
break;
case 2 : tmp = 3.0
break;
default : tmp = 3.5;
}
}oelse |

switch ((int)pert) {
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case 0 : tmp = 0.0;
break;

case 1 : tmp = 3.0
break;

case 0 : tmp = 4.0;
break;

default : tmp = 4.5;

crdn += tmp;

crds += tmp;

f -
if (num '= 0) {
fprintfifr, % 11s%05d%05d%05d%05d%05d%05d " otcod,
(int)(lecu® 1000),(int(labu* 1000);
(int{lecg*1000),(int(labg* 1000);
(int)(ward* 1000),(int(semi* 1000));
fprintf(fr, * %02d%02d%02d ",
(int)prju,(int)prjg.(int)thss);
fprintf(fr, * %06d%06d
(int¥(crdn*1000),(int)(crds* 1000);
}
feloseinx(fph);
fclose(fr);

comt(str)
char str] J;
{
int iflag=i,nday=0;

char day[8&);

for (i = O)i < 4) && (Nag)i++) |
strepy(day, streut(str, 14+(i*7), 7+(1*7)));
if (stremp{day,BLK7)) |
nday += fndy(day) * fntm(strcut(str,29+(i*8),36+(i*8)));
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} else |
flag = O;
}
]
return{nday);
]
fady(sdy)

char sdy[

{
int iflag=1,cou=0;
for (i = 0:(1 < 8) && (flag);i++) |
switch (sdy[i]) {
case 'S
case M
case T
case W
case F i cou++
break;,
case flag = O;
break;
}
)
return(cou);
|
fntm(stm)

char stm[ [;
|

int ou,sttm,sptm;

sttm = htoi(strcut{stm,1,4));

sptm = htoi(strcut(stm,5,8));

cou = sptm - stim;

return{ ({(cou < 0) ? ) : cou) J;
}
J*

* This module use to change hour&minute to decimal radio
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* je 1330 10 1350 or 11.15 0 1125
*/
htoi(str)
char str[ ];

{

int val;

val = atoi(streut(str,1,2))*100
+ (int) (atoi(strcut(str,3,4)} / 3.0 * 5.0}

return(val);
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J* o< fndx.c >>55355e555> ¥/

#include <stdio.h>

mkndx(name,rsz.ksz,pos)

char name[ ];

int rszksz,pos;

{

FILE *fi,*fx;
char ndxnam([20],buf[200],key[20),0key[20}; -

int ndx;

strepy (ndxnam,name);
strcat(ndxnam, “.ndx”);
fi = fopen{name, “r”);
fx = fopen(ndxnam, “w'y;
strcpy(okey, “y,
ndx = 0;
while (fgets{buf,rsz+10,fi) != NULL) |{
strepy{dey strcut{buf,1+pos ksz+pos));
if (strempikey,okey)) |
strepy(okey key);
fpritf(fx, " %*s %06d\1 ksz,0key,ndx);
l
ndx += rsz;
]
felose(fi);
fclose(fx);

fopenndx(name,type,fp}

char name([ J,type[ I;

FILE *fp[ ];

{

char nmndx[30];

strepy{nmndx,name},
streat(nmndx, “.ndx”);
fpl0] = fopen{name,type);
fp[1] = fopen{nmndx,type);
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return{(fp[0] == NULL) Il (fp[1] == NULL)) ? NULL : 1)
]

fstndx(fp.code,flg) /* fseekndx */
FILE *fp[ ]:
int code,flg;
{
int rded,ndx = -1,nmfac;

nmfac = facul(code);
do |
fscanf(fp[1], “%d%d“,2rdcd,&ndx);
if (flg)
if {(nmfac == facul{rdce))
| while (((feof(fp[1]}) && (rded != code));
if (feof(fp[i1)
ndx = -1;
!
fseek(fp[0],(long ndx,0);
retum{(ndx == -1 70 : 1)
J
facul{num)
int num;
{
int code;
if (num < 2000)
code = I
else if (num < 2500) f* engineer */
code = I;
else if (num < 3000) /* educate */
code = 2;
else if (num < 3500) /¥ science */
code = 3;
else if (num < 4000)  /* medical */
code = 4;
else if (pum < 4500) /* human nd social */
code = 5

else if (num < 5000) /* management science */
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code = 6;
else if (num < 35500) /* natural resources */
code = T,
else if (num < 6000) /* famarcy */
code = 8;
else if (num < 650b) /* nurses */
code = 9,
else if (hum < 7000)  /* dentist */
code = 10;

else if (num < 7500) /* science and technology */

code = 11,
else if ((num >= 95000 && (num < 9600)) f* graduate */
code = 12;

else if (num >= 9600) /* Phuket college */
code = 13;

else
code = 0O

return{code);
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I <<<egggecge<g frepe »oo>>>05>0> ¥

#include <stdio.h>
#include <curses.h>

. " i)
#include scr.h

#define BUFCM 79 /* compu file */

#define COMBF 52 /* compu file */

#define FREPT “report.dat“ /* report file-name */
#define ON ]

#define OFF 0

#define COND_CH(FP,STATUS) fprintf((FP), “%c" ((STATUS) 7 15 :

#define ENLG_CH(FP,STATUS) fprintf((FP), “\033W%C” (STATUS))
#define NORMFEED(FP)

extern int coll32;
extern char fackey[ ){5);
extern char fname[ ](30];

int rdyf;

subj_t( )
{
FILE *fc[2),*fh[2]*fr;
int cmpf = 1;
char bufc[COMBF],bufh[93];
char codetf8),codes[8),sterr[30];
scrpos(12,31);
printf(” Teacher [ 1y
strepy(codet,rdchr(7,12,40));
if (! isnum(7,codet)) |
sprintf(sterr, “. ..CODE [%e7s] error > . .”,codet);
status(sterr);
return{10);
}
scrpos(12,12);
clreol( );
dubln( );
printf(“Teacher : %Ts codet);
if (fopenndx(“‘compu”, “r .fc) != NULL) |

18))
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wrmid(15, *. . . Please wait > ... );
refresh( );

”» N

fopcninx(“hload , 1 thy
fr = fopen(FREPT, *wy
if (fstndx(fc,atoi(codet),0)) |
rdyf = I;
hdsbrp(fr,codet);
while ({cmpf >= 0)&&(fgets(bufc, COMBF fc[0]) != NULL)) {
cmpf = stremp(codet,streut(bufe,5,11));
if (cmpf == 0) |{
strepy{codes, "M,
strepy(codes,strcut(bufe,12,18));
fprintf(fr, * %75”,codes);
if (freadinx{bufh,codes,fh) == oL).
sprintf(bufh, " %7s%75s\n",
codes,, * ")
fprintf(fr, © %60s ",
strcut(bufh,8,67));
fprintf(fr, “ %2s”,
streut(nufc,19,20));
fprintf(fr, *  %2d(%2d-%2d) ,
atoi(strcut(bufh,68,69));
atoi(streut(bufh,70,71));
atoi{streut(bufh,72,73)));
fprintf(fr, © %ls ,
streut{bufc,21,21))
fprintf(fr, %3d,
atoi{strcut(bufc,26,28)));
fprintf(fr, FBadan”,

atoi{strcut(bufc,22,25)));

]

Inrep(fr);

if(lc0l132)
COND_CH(fr,OFFY),

felose(fr);
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s

feloseinx(fh);

fclosendx(fe);

]
mkrep_t(type)
int type;
{
FILE *fc[2],*ft[2],*fd[2],*fr;
int flag = O.cmpf = 1;
char buf[BUFCM],codet{8],coded[5],buft[106),sterr{30];
float tval[10];
scrpos(12,311);
printf( Teacher [ 1)
strepy(codet,rdchr(7,12,40));
if (! isnum(7,codet)) {
sprintf(sterr, “. .. CODE |%7s]) error .. .",codct);
status(sterr);
return{1);
]
serpos(12,12);
clreol( );
dubin( ),
printf(“Teachcr : %75”,c0det);
if (fopcnndx(“compuf’, “r“,fc) != NULL) |
fopcninx(“lcct”, “r”.ft);

[T

fopeninx(“dept”. r fd);
wrmid(15, “. . . Please wait . ..");
refresh( );
fr = fopen(FREPT, “wy;
freadinx (buft,codet,ft);
flag = fstndx(fc,atoi(strcut(buft,8,11)),0);
while ((cmpf > 0) && (flag)) {
if (fgets(buf BUFCM,fc[0]) != NULL) {
cmpf = stremp{codetstreut(buf,5,11));

} else {
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flag = O;

]

if {cmpf == Q) {
strepy{coded,strcut(buf,1,4));
headrep(fr,type);
facrep(fr,fd,coded);
deprep(fr.fd.coded);
vodyrep(fr,ftbuf type.tval);

|

Inrep(fr);

if (lcol132)
COND_CH(fr,OFF);

NORMFEED(fr);

fclose(fr),

fcloseinx{fd);

feloseinx(ft);

fclosendx(fc);

]
mkrep_d(type)
int type;
{
FILE *fc(2].*ft{2],*fd[2],*fr;
int headf = Qempf = 1;
char buf[BUFCM],coded[5],sterr[30];
float tval[10],dval[10];

scrpos(12,32);

printf(’ Department | )

strcpy(coded,rdchr(4,12,44));

if (! isnum{4,coded)) {
sprintf(sterr, . . . CODE [%3s] error . . ." coded);
status(sterr);
retumn(1);

!

scrpos(12,12);
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clreol( );
dubln( );
printf(“Department : %45”,coded);
if (fopenndx( compu2”, “r" fe) != NULL) {
fopeninx(“lccl”, “r",ft);
fopeninx(“dcpt”, “” fd);
wrmid(15, . . . Please wait ... );
refresh( );
fr = fopen(FREPT, “w");
fstndx(fc,atoi(coded),0);
while ((cmpf >= 0) && (fgets(buf BUFCMfc[0]) = NULL)) |
empf = stremp(coded,streut{buf,1,4));
if (cmpf = 0) {
if (‘headf) |
headrep(fr.type);
headf = 1,
facrep(fr.fd,coded),
deprep(fr,fd,coded);
setary{dval);
}
bodyrep(fr.fi,buf type,tval);
addary(dval tval);

]

Inrep(fr);

sumrep(fr,1.dval);

Inrep(fr);

if (!Coll132)
COND_CH(fr,OFF);

NORMFEED(fr);

fclose(fT);

fcloseinx{fd);

fcloseinx(ft);

felosendx(fc);
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mkrep_f(tyep,num)
int type,num;
{
FILE *fc[2],*fd[2],*fr;
int headf = Oinf = I;
char buf{ BUFCM],codef[5],strtmp[50],coded[5],ocoded[5];
float tval[10),dval[10],fval{10);

scrpos(12,14);
sprintf(strtmp, “FACULTY : %s fname[num]);
wrmid(12,strtmp);
if (fopenndx(“compuZ”. “r”.fc) 1= NULL) {
fopeninx(“dept”, “r“,fd);
wrmid(15, . . . Please wait ... );
refresh( );
fr = fopen(FREPT, “wy;
strepy (codef fackey[num]);
fstndx(fc,atoi{codef),1);
strepy(ocoded, “”);
while ((inf) && (fgets(buf BUFCM fc[0]) != NULL)) {
strepy (coded,streut(buf,1,4))
if (num == facul{atoi(coded)) } {
if (theadf) |
headrep(fr.type);
headf = 1;
facrep(fr,fd,codef);
setary(fval);
setary(dval);
}
if (stremp(ocoded.coded)) {
if (stremp(ocoded, ““))
depsum(fr,fd,1,ocoded,dval);
strepy (ocoded,coded),
setary(dval);
}
bodyval(buf type,tval);

addary{dval tval);



126

addary(fval tval);
} else |

inf = 0

}

depsum(fr.fd,1,0coded,dval);

Iﬁrcp(fr);

sumrep(fr,2,fval),;

Inrep(fr);

if ('coll32)
COND_CH(fr.OFF);

NORMFEED{fr);

felose(fr);

fcloseinx(fd);

fclosendx(fc);

mkrep_u(type)
int type:
{
FILE *fc *fd[2],*fr,
int headf = 0,nmfac,onmfac;
char buffBUFCM],coded{5],0ocoded[5);
float tval[10],fval[10],uval[10];

scrpos(12,13);

dubln( );

printf( UNIVERSITY ),

if ((fc = fopen("compu2”, “r")) !'= NULL) [
fopcninx(“dept”, 7 fd);
wrmidI(15, “. .. Please wait . . .”);
refresh( );
fr = fopen(FREPT, “w”);
strepy(ocoded, )
onmfac = -1;
while(fgets(buf BUFCM,fc)} != NULL) {

strepy{coded,strcut(buf,1,4));
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nmfac = facul(atoi(coded));
if (‘head) |
headrep(fr,type);
headf = 1;
setary(uval);
b
if (strcmp(ocoded,coded)) |
if {(nmfac != onmfac) {
if (onmfac 1= -1}
depsum(fr.fd.2 fackey[onmfac].fval);
onmfac = nmfac;
setary(fval);
}
strepy(ocoded,coded):
]
bodyval(buf type,tval),
addary(fval,tval),
addary(uval,tval);
]
depsum(fr.fd,2.fackey[onmfac],fval);
Inrep(fr); l
sumrep(fr,3,uval);,
Inrep(fr);
if (lcoll32)
COND_CH(fr,OFF);

NORMFEED(fr);
felose(fr);
feloseinx(fd);
fclose(fc);
}
i
repch( )
{
int choe;
serpos(10,33);

prinlf(“ 1. Teachcr”);



scrpos(12,33);
printf(“Z. Departmcnt”);
scrpos(14,33);
prin[f(“3. Faculty”);
scrpos(16,33);
printf(“4. Univcrsity”);
scrpos(18,33);
printf("s. EXIT”);
scrpos(22,50);
printf("SELECT {5]");
do {

choc = rddg(22,58);

} while {{choc < 0) Il {choc > 5)):

return((choc == 0) ? 5 : choc);

128
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f* << frphe >>>5550555> *f
#include <stdio.h>

. w“ "
#tinclude scr.h

#define CRTI_A 1

#define CRTl_n 14

#define ON 1

#define OFF 0

#define RETURN 015’

#define COND_CH(FP,STATUS) fprintf((FP), “%c  ((STATUS) ? 15 : 18))
#define ENLG_CH(FP,STATUS)fprinti((FP), “033W%ec , (STATUS))

#define EMPH_ON(FP) fprintf((FP), "\033E ")
#define EMPH_OFF(FP) fprintf((FP), “\033F )
#define NORMFEED(FP) fprintf((FP), “\0332")

#define HEADLNI  “mwamunuydi 1”7

#define HEADLN2  “aqUmisziiuaouvetsiniss’

#define  HEADLN3  “Uszdwmamsanyidi 2 Unisfinw 25327
#define HEADLN4 \

“$ramsaTu $1umses”
1 \001 (mR9G9 ‘CwhM' D16\
#define  HEADLNS “%p V30w Ufuanis
295R duuwn Tnsau Inowinusmszan”

#define  HEADLN6 \

“n3 Tn 73 Tn Aoy a3 n”
#define HEADSBI ‘“Yoyaimilaouvousozernss”
#define HEADSB2 “sWap19134”

#define HEADSB3 “¥oe19138 *

#define HEADSB4 “sWaIm o3
aou  MuUNe Uszinnie
}Y o Y n
JouazmIaou $unninnm

<9 Bl A W
#define NONAME “luwu¥eowisd  sva

o ¥y

#define NODEPT “hinudemnis  swa
#define NOFACU “‘hinuionmz sa”
#define SUMDEP “32aninin’

#define SUMFAC “soumanuz”

#define SUMUNI “squsiauwiinende”

extern int Coll32,term,year.rdyf;
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cahr

fackey[ 1[15} = (" 0000”, “2000", “2500", “3000”, “3500", 4000 ,
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o« M 7 L LI

ELE 1Y 3

“6000", “6500", “7000”, “9500”, “9600" }:

fname[ ][30] = | CODE OUT OF RANGE ,

“ENGINEERING ",

“EDUCATION”,

“SCIENCE”,

“MEDICINE .

“HUMANITIIES AND SOCIAL SCIENCE ",
“MANAGEMENT SCIENCE”,
“NATURAL RESOURCES”,
“PHARMACY”,

“NURSING”,

“DENTISTRY",

“SCIENCE AND TECHNOLOGY”,
“GRADUATE SCHOOL",

“PHUKET COMMUNITY COLLEGE” };

hdsbrp(fp,codet)

FILE *{p:

char codet] |;

{

FILE *ft[2],*{d[2];

char *thstr{4],*tmp,buft[ 106),coded[5];

thstr{Q]
thstr[1]
thstr[2]
thstr[3]

tmp =

= (char *) malloc(200);
= (char *) malloc{200};
= (char *) malloc(200);
= (char *) malloc(200)
(char *) malloc(200),

. 13 ” oo
fopeninx( lect , r .ft);

L9

fopeninx(“dcpt”, “r fdy:

fprintf(fp, “\0333\00\m\n\n\n ;

if (coll32)

ENLG_CH(fp,ON);

thaich(HEADSBI1 thstr);

thwstr{fp,((col132) 7 21 : 27)thst);

if (col132)

ENLG_CH(fp.OFF);

M e

LI T}

4500 ,

AL 1Y

5000 ,

”

5500 ,
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else

COND_CH¢fp,ON);
thaich(HEADLN3, thstr};
thst[2](17] = term + 0;
sprintf(tmp, “%.28s %4d“.ths|:r[2],ycar);
strepy(thstr{2],tmp);
thwstr(fp,49 thstr);
thaich(HEADSB2, thstr);
sprintf(tmp, “%.9s %75 thstr(2],codet);
strepy(thstr[2]),tmp);
thwstr(fp,4.thstr);
if (freadinx(buft,codet.ft}y == OL)

sprintf(buf, % 7s%4s%-265%7s-%50s\n"

© codet, ‘000" NONAMEgodet, * "),

strepy(coded, streut(buft,8,11));
strepy(mp, HEADSB3),
streat(tmp,streut)(buft,12,51));
thaich(tmp,thstr);
thwstr(fp.4,thstr);
deprep(fp.fd.coded);
facrep(fp.fd,coded);
Inrep(fp);
thaich(HEADSB4, thstr);
thwstr(fp,5,thstr);
Inrep(fp);
NORMFEED({fp);
fprintf(fp, “\n" X
free(thstr[0]);
free(thstr[1]);
free(thstr[2]);
free(thstr[3]);
free(tmp);
fcloseinx(fd);

fcloseinx(ft);

headrep(fp,type)



FILE *fp;

int type;

char *thstr[4],*tmp;

int i;

dyf = I;

thstr[0] = (char *) malloc(200);
thstr[1] = (char *) malloc(200);
thstr[2] = (char *) malloc(200);

thstr[3] (char *) malloc(200);

tmp = {(char *) malloc(200),
if (col132)
ENLG_CH(fp,ON);
thaich(HEADILNI1, thstr);
thstr{2][12] = type + 'O;
thwstr{fp,((col132) ? 27 : 32),thstr);
thaichl HEADLNZ2 thstr);
thwstr(fp.((col132) ? 22 : 27)thstr);
if {coll32)
ENLG_CH(fp,OFF);
else
COND_CH(fp,ON).
thaich(HEADLN3 thstr);
thstr[2][17] = term + 0
sprintf(imp, ' %.28s %4d" thstr[2],year);
strepy(thstr[2],tmp);
thwstr(fp.49,thstr);
Inrep(fp);
thaich(HEADLN4,thstr);
thwstr(fp,44 thstr);
fprintf(fp, “oads”, “ 7y,
fputc(‘ ¥ o)
for i = 01 < 53;i++)
fputc(‘-,,fp)ﬁ
fputc(‘l’,fp);
fputc(‘\n’.fp):

132
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thaich(HEADLNS thstr);
thwstr(fp,19,thstr);
thaich(HEADIn®,thstr),
sprintf(tmp, “\0333%¢ " 1);
strcat(thstr{0],tmp);
thwstr{fp,44,thstr);
Inrep(fp);

free(thstr[0]);
free(thstr{11);
free(thstr{2]);
free(thstr[3});

free(tmp),

deprep(fp.fd.coded)
FILE *{p,*{d[2];
char coded[ J;

{
char bfd[90],*thstr[4];

thstr[0] = (char *) malloc(200);

thstr{1] = (char *) malloc(200);
thstr{2] = (char *) malloc(200);
thstr[3] = (char *) malloc{200);

if (freadinx(bufd.coded.fd) == OL)
sprintff(bufd, “%4s  %-205%4s-%40s\1  coded NODEPT coded,
thaich(streut(bufd, 10,61),thstr);
EMFH_ON(fp);
thwstr{fp.4,thstr);
EMPH_OFF(fp);
free(thstr[0],
free(thstr[1];
free(thstr[2];
free(thstr[3];

facrep(fp,fd,code)FILE *fp *fd[2];

char code] J;

"

)
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char bufd[90],*thstr[4],*tmp;

int fenm;

thstr{0] = (char *) malloc(200);
thstr{l] = (char *) malloc(200);
thstr[2] = (char *) malloc(200);
thstrf3] = (char *) malloc(200);

tmp = (char *) malloc(200);
fcnm = facnl(atoi{code));
if (fenm != 0)
freadinx(bufd fackey[fcnm] fd);
else
sprintf(bufd, “%ds  %-225%43s\n” code, NOFACU code, “ 7;
thaich(streut(bufd,10,61),thstr);
EMPH_ON(fp);
thwstr(fp.4,thstr),
EMPH_OFF(fp);
free(thstr[0]);
free(thstr[1]};
free(thstr[2]);
free(thstr[3]);
free{tmp);
}
bodyrep(fp,ft,buf type,rval)
FILE *fp,*ft[ ;
char buf] ];
int type;
float rval] J;
{
char *rpbuf[4].*wrbuf lect[106].tcod[8].tmp[50];

float dat;

long In;

int ij = 0

pbuff0] = (char *) melloc(200);
rpbufli] = (char *} molloc(200);

rpbuf[2]

(char *) molloc(200);
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rpbuf]3]
wrbuf = {(char *) molioc(400);

(char *)} molloc{200);

strepy(tcod,streut(buf,5,11));
if (freadinx(lect,icod,ft) == OL) {

sprintf(lect, % 7s%45%-265%7s-%50s\n"~

tcod, “0000” NONAME,tcod, * 7);

}
thaich(streut(lect,12,51),rpbuf);
sprintf(wrbuf, “%-40.40s " rpbuf[2));
for (i = 0;i < 6i++) |

dat = (float atoi(strcut(buf,12-+(i*5),16+(i*5)) / 1000.0;

if (dat == 0.0)
sprintf(tmp, -
else
-
sprintf(tmp, %5.2f dat):
streat(wrbuf,tmp);

rval[j++] = dat;
]
for (I = 01 < 3;I++) [
dat = (float) atoi (streut{ubf,424(i*2),43+(i*2)));

if (dat == 0.0)

sprintf(tmp, “ "
else

sprintf{tmp, " %2.0f" dat);
streat(wrbuf tmp);

rval(j++] = dat;
}
if (type == 1)
dat = {float atoi(strcut(buf,48,53)) / 1000.0;

else

dat = (float atoi(streut(buf,54,59) / 1000.0;
if (dat == 0.0)

sprintf(tmp, “ -7y
else

sprintf(tmp, %6.2f dat);

streat{wrbuf tmp);
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rval[j] = dat;
strepy (rpbuf[2), wrbuf);
thwstr(fp,6,rpbuf);
free(rpbuf(0]);
free(rpbuf(1]);
free(rpbuf(2]);
free(rpbuf{31);
free(wrbuf);
}
bodyval(buf type.rval}
char bufl I;
int type;
float vvalf J;
{ -
int ,j = O
for (i = ;i < 6ii++) |
rval[j++] = (float)atoi(streut(buf,12+(1*5),16+(i*5))) / 1000.0;
!
for (i = O;i < 3i+H) |
rval[j++] = (float) atoi(strcut(buf42+(i*2),43+(i*2)));

J

if (type == 1)

rval(jl = (float) atoi(strcut(buf,48,53)) / 1000.0;
else

rval[j] = (float) atoi(strcut(buf,54,59)) / 1000.0;

!

depsum(fp,fd,sby,coded,val)

FILE *fp,*fd[2];

int sbhy;

char coded| J;

float vall I;

{
int ij = O;
char bufd[90],*thstr{4],*tmp,*wrbuf;
thstr{0} = {(char *) malloc{200);

thstr[1] = (char *) malloc{200);
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thstr[2]

{char *) malloc(200),
thstr[3] = (char *)} malloc(200);
wrbuf = (char * malloc{400);
tmp = (char *) malloc(200);
if (freadinx(bufd,coded,fd) == OL)}
if (sby == 1)
sprintf(bufd, *%ds %-225%4s-%43s\n

coded NODEPT coded, * "),

else

sprintf(bufd, * %ds %-225%4s- %43\

,coded NOFACU coded, “ ");

thaich(strcut(bufd,10,61),thstr);
sprintf(wrbuf, “%-35.35s " thstr{2]%
for (i = O;i < 6i++) |

if (val[j] == 0.0)

sprintf(tmp, * - "y
else

sprintf(tmp, © %6.2f val[jl);
s
streat(wrbuf,tmp);

for (i = 0;i < 3i++) |

if (val[j] == 0.0

sprintf(tmp, “ -"):
else

sprintf(tmp, © %3.0f val[j]):
s
strcat(wrbuf,tmp);

l
if (val[j] == 0.0)

sprintf(tmp, “ -7y
else

sprintf(tmp, ~ %7.2f.val(j]);
streat{wrbuf,tmp);
strepy(thstr[2],wrbuf);

thwstr(fp,8,thstr),
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free(tmp);

free(thstr[0]);

free(thstr{1]);

free(thstr[2]);

free(thstr[3]);
}

sumrep(fp,sby,val)

FILE *fp;

int sby;

float wval[ ];

{
char *rpbufl4),*wrbuf tmp[50];
int i,j=0,
rpbuf[0] = (char *)} malloc(200)
rpbuf[1] = (char *) malloc(200);
rpbuf[2] = (char *) malloc{200);
rpbufi3] = (char *) malloc(200};
wrbuf = {char *) malloc(400),

strepy(tmp, N “);
switch(sby) |
case 1 : strepy(tmp,SUMDEPY);
break;
case 2 : strepy(tmp,SUMFAC),
break;
case 3 : strepy(tmp,SUMUNI),
'
thaich{tmp,rpbuf);
sprintf(wrbuf, “ %-305",1"pbuf[2]);
for (i = 01 < 6;1++) |
if (vallj] == 0.0)
A sprintf(tmp, “ - );
else
sprintf(tmp, © %6.2f val[j]);
i+

streat(wrbuf,tmp);
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for (i =i <3is+) |

if (vallj] == 0.0)

sprintf(tmp, )
else

sprintf(tmp, %3.0f vallj]);
j++;
streat(wrbuf,tmp);

}
if (vallj] == 0.0)

sprintf(tmp, -y
else

sprintf(tmp, %7.2f valljl):;
streat(wrbuf tmp);
strepy(rpbuf]2],wrbuf);

EMPH_ON(fp),
thwstr(fp,16,rpbuf);
EMPH_OFF(fp);
free(rpbuf[0]);
free(rpbuf[1]);
free(rpbuf[2]):
free(rpbufi3]);
free{wrbuf);

}

Inrep(fp)
FILE *fp;
{
int i
fprintf(fp, = ™);
for (i = 0ii < 126;i++)
fputc(‘-’,fp);
fputc(‘ \n’,fp);

thwstr(fp,blk,str)
FILE *fp;
int blk;

char *str{ J;



140

int i
for i = 0;i < 4i++)
fprintf(fp, " %*s%s\n’ ,blk, * " strli]);
}
facnum( )
{
int ich;
hghechr( );
wrmid92, “FACULYCODE );
norchr( );
for (i = O <l4i++) |
serpos(5=i,25);
printf(“%ec. %s’ i+ ‘A’ fnameli]); -
!
scrpos(19,25);
printf("X. EXIT);
scrpos(24,55);
printf("“Enter faculty code [X] )
do |
scrpos(24,75);
ch = rdupp( );
} while ((ch '+ ‘X') && (ch < ‘A)ll(ch > ‘N)) && (ch != RETURN)Y
retun(((ch == ‘X’)I1(ch == RETURN)) ? } : ch- ‘A’ +1);
}
setary(val)

float val[ ];

{
int i
for (i = 0;i <10;i++)
val[i] = 0.0;
!
addary(valt,vals)

float valt] ],vals[ ];

{

int i
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for (i = 00 < 10ii++)
valt[i] += wals[i];

]
f* <<<cegegegege fthw.e >>>>>>>>>>5>> */f
#define CTRL_A 01
#define CTRL_N 14
#include <stdio.h>
thaich(str,stt)
char *str*stf J;
{

int size,i,jm,jx.fth,f12;

char ch;
X = jm = 0,
fth = f12 = 0 -

size = strlen(str)
for (i = 0;i <size;i++) |
ch = *@str + Iy
if (fth) |
if (ch == CTRL_N} {
fth = O;
} else |
ch += 128;
switch (inline(ch - 128)) |
case U : if (f12 |
if ((ch - 128) == ‘m’) |
stt[O][jx-1]=stt[ 1][jx-1];

stt[1}{jx-1] ch;

} else |

stt[0][jx-11

ch;

} else }
sti[1]jjx-1] = ch;
fiz = 1;
}
break;
case M : if ((ch -128) != ‘\) |
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stt{O)(jx] = stt[11[jx]
= st} =
stt[21jx] = ch;

} else }
su[0](jx] = su[1]{jx]
= st[2][jm]
= su{3Gx] = N
j
jmt;
JX++;
fi2 = O
break;

case 'L : stt[3][jx-1}] = ch;

}
I else |
if (ch == CTRL_A) |
fth = 1;
] else |

if (ch '= ‘\)

st{O3[jxJ=stel 1}[ix]=ste[31(x] = *
} else |

stt{O][jxJ=sttf 1](jx]=stt[3][jx] = *
|
jx++

stt[2]Gm++] = chy;

/* put thai linefeed code & mull charecter *f
stt0lljx} = su[1](jx] = suf2](jm++] = st(3](x] = ‘\033;
JE++
stt[0]{jx]
s
stt[01[jx]

JXE+

st2)(jm++] = su3]x] = 3%

I

stt[1][ix]

15:su[1](x] = 24se(2][jm++) = 22;stt[3](x] = 10;
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1

sttfO]0x] = st[11[jx] = stt[2]jm] = stt[3]1(jx] = ‘\000';
]

inline(ch)
char ch;

{

int iret;

char nomidd{19];

strepy(nomidd, “YZXi[ ]ghjklm\QWTU V”);

for (i = 0:(i <18) && (ch '= nomidd[i]};i++);

if (i < 3) {
ret = ‘L’;
| else |
if (i< 18) {
ret = ‘U,;
) else |
re = ‘M,
i

}

return(ret);



